© Wed, Feb 12, 2020 MATH 262 - Quiz 1

. Name: (print) gb&@é 222X

" Each problem is worth 2 points. | Show all your Work.

1. If r € R and 0 € V is the zero vector, prove that 70 = 0. Give a proof based on the
Axioms of Vector Space. Show all steps. ' ‘
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2. IfreR,veV,r=#0and rv =0 prove that v = 0. Show all steps.
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5. D_eterminé whether the following subset of R? is a subspace or not:
Cm- {(v1,v5) €R? sy > 0}
Give a proof. -
/\/éé a $u¢§ﬁfa ace
(j_ 0)e H
M (‘“”\) (/)W)'* /’” ﬁ/"’") 6//4/

- S0 be w?é C/OJA&@/«’/"WQ/"@W‘
Ve b %?7 MW

4. Determine whether the set S = {f € D(R) : f'(z) + f(z) = 0, foral z € R} is a
subspace of D(R) or not. Give a proof. ‘
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